September 16 2016.GWB - 1/7 - Fri Sep 16 2016 08:36:22

I, type 80O words in 12 minutes 2. 192 students in 4 buses
{ words per minute L in cach bus
- —_— — =L
3. 357 miles in S hours 4 8 du,;kc, for $23.60
. miles per hour $ d ’g per duck
.S I3 lﬂ-ll::hug ol chernies for $33.49 6. 12 chickens lay 30 eggs
$5.35 per Ih oh- 2 epps per chicken
1. LJ?‘\ Sl]l in 8 hours 8. 3 pjzzas for $19.99
2. 19 per hour $6.67 each
3. 3500 calgnies for 6 servings of pic 10, 351 chsirs in 27 rows
a2 .5 3calories per serving 1 2 chairs in each row
i1 ‘.- 'E i!ul 2 pairs of y._m 12. $37, "‘-?In:r_p.]u-.n! ducks
( 8.9 each 3! > _per duck
13, 24 senior citizens in 12 RVs 4. 7 p_cl_'lguj s for S188 88
=t ineach RV £ 96 each
Which is the better buy?
15. A12:5 Gz bag of Doritos for $3. 704 a 3 0z luL for $1.00
=y { T._‘ ?-_q.‘_'_— DR | 'I_ > PEL D3
|
|
$fo 16. 12 bars of -uplu:‘llllilrlralull u_l_uJ_LIII 00— ﬁq
4 B3 pot =
| - = AR - Ir’ 240
17. A box of 84 penguins lor $13,597 ¢ a bag n!'.‘:l}j_r ||1.'u|m for §79595. ——
EILlL.87 r Lig [» v ==
11" ol -
. T" ] "*-'J":”_‘ IL PeL  peayu
I5L5 gallon bucket « |_1| 1Nt for $97 45 ¢a | gallon bucket of |1.||l‘ for ..l U5
-_'.|“‘ 'L'-"')'_*L
T MO | L_f-' L sl
19. 480z big hu'[p lor $1.39 or a 32 oz coke for $.89 \
i w ")
3,08 Sple .
J_—t C : | FEL O I:" -'h‘ L
20,050 head of caule for 5"‘1"!"'[_& 37 head of cattle for $18,870
H4ap pee ' =]
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London hrull |
1.35 kg for S10.80 |

2 | ;
| Unit pm:aql ia_a_%,f}v-j
Apples

2.2 kp for $4.96

Unit price| l Lfl' /%A}-‘
Green beans
5 cans for §2.05

I

4, | | 5. | ] 6 I
L - f1 A . . | T
!_U“'LE"'-“ ]_:]___;‘, J L;j Unin pncel- Lb I:U L Unit price/ i‘-“‘b ,’).'/!3
Carrots }||\.-- ol Raisins
1.5 kg for £3.30 0.7 L for $1.92 | 0.8 kg for §3.52
7. ey 8 T Tl I
Unit Frice Y ||-' L Unit price qu;’ ._-’ :,,'I Linin pnce J'Lléalfﬁﬁ
. = S e
Molasses Walnuts | Cheddar cheess [
035 L for §1.2¢ | 0.65 kg lor $3.52 1.25 kg for 85.75
10. T 1 T | 12 -l
L1 ™y 4 - Q4 O -
| Unit price| Dol.J8 /Y Unit price| 2 3.560/ I/ ¢ Unit price| J5|. *f *” L&
Bananas Ham Tomatoes |
)43 kg for $099 2.6 kg for $9.88 1.7 kg for $1.87 |
>
Find the unil price of cach item. Which choice has .
e lower unit pnce :
13. Sirawbermit 14, Tomulo sauce -
1 Ll & ) =
A )2 baskets for $0.89 _« 15 Jbasker L A )5 cansfor $1.00 .E*_._.,_-ZC' fcan z
B 3 baskets for §1.3 ﬁ_ Mbasket B Jcansfor 30,67 b s 2L Jcan ¥
1
18, Cheess 16. Paper towels 8"
_ B §
A )0 45 kg for §1 >0 kg A 3 rolls for §2.37 ‘u- gL T
B 0.6 kg for $1.92 <3 0 kg (' B)2rollsfor §1.38 3 _[’_‘{_ ‘rall
17. Mushrooms 18. Chicken
A U5} 1 30.9 8 fertd iz A |85 kg for §3.33 l Bo Al T

bel . & D g (B) 1.4 kg for $2.31 JL“B
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PART B: Converting Metric examples

L e 1 2 3 4 3 B 7 o —
Understanding conversions using the metric system -
Part A: Metric Investigation (20 minutes)
Supplies: A pariner, a meter stick, a shoe, and a phone 0
- [El
Take measurements of each of the following items and write down the scale b
PHONE SHOE PERSON E
Juo N
mm mm mm
49
o
I | cm cm cm )
Nt s
&3
- What do you nofice about all of the numbers on each item measurement? S
@
€
=
=
=
Kilo Hecto Deca (da) BASE Deci (d Cenfi Milli; &
X/1,000 X/100 X/10 X 10X 100X 1,000X &
X ()

Metric conversions have base units of:
(length); (liquid); (weight)
S’rolr rule. Find which unit you are s’ror’nng at, If you are mowng fo ’rhe right move the

PAGE1OF3 444 WORDS [[%
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PART B: Converting Metric examples
Kilo Hecio Deca (da) BASE Deci (d Cenfi Milli
X/1,000 X/100 X/10 X 10X 100X 1,000X 0]
X [
=
Metric conversions have base units of: E
( meziee__ (length); LUT EX. (liquid); ('!Z,}:_!El (Weig N
Stair rule. Find WRHICH URNIT YOU Aare startimgat. 1T you are moving to the right move the ®
decimal the how every many “stairs” you are going. If you are moving left, you move @
the decimal to the left for the number of stairs you are going, ‘\J
=
Using the rule convert the following metric unifs. g
1) .03 kmis how many cm? g
/~ Kilo \| Hecto |Deca (daq) BASE Deci (d Centi Milli -
\_X/1,000/ | X/100 X/10 X, 10X 100X 1,000X &
\<_/\5\-/ W S5
O30 2000 oM =
2) 75 mLis how many kL? B
Kilo Hecto | Deca (da) BASE Deci (d Centi | "Ml ™\ 2
X/15000 X/100 X/10 AX 10X 100x | 1,000X / ®
C%/ M RS SN Su—
‘!“ﬁ OO =y . 000015 KL
—
Kilo HeCTo Deca (da) J© BASE \ Deci (d Centi Milli
D E

D oo (
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L EE 1 ~E 2 E 4 ® 5 1 7 B

J

Which unit would produce a bigger number?
4 morcm 9) m or kM 6) cm or kM

H AV v a N MG 4

THE o To THE ®\GHT . JHE ARGEE. (HE Numbgfl
MG To CianT (BT RIGHER m MIWVE WO (EF GeT <SwhLLER.

~ Part C: Practice conversions
4) 93.5cmitom

/) gormg 8) kg orge

1) 4kmtom 2) 00 cmtom 3) 30 mm focm

) 2340 mgtog

6) 2500 mm tocm

/) 2000 mm tom

8) 800 m to km

9) 3mtocm

10) 385 mL to L

11) 3.64 mtocm

12)1.45kg to g

13)3000 m to km

14) 50 mm to cm

15) 2000 mm tom

16) 2386 m to km

17) 3482 g to kg

18) 2.6 cm to mm

12)2.5 miocm

20) 6 kmiom

CIERCEN RO EN (U 82 &) £ % & & /|2 7 B|e
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1) 4kmtom 2) 00 cmtom 3) 30 mm focm 4) 93.5cmitom
H,000 ™ o m 5 om L9425 ™ v
5) 2340 mgtog 6) 2500 mm tocm /) 2000 mmtom 8) 800 m to km ’E
SRR N A D0 em S m & S
9) 3mtocm 10) 385 mLto L 11) 3.64 mtocm 12)1.45kg to g E
260 cm 385 L DY em |50 5
13)3000 m to km 14) 50 mm to cm 15) 2000 mm tom 16) 2386 m fo km g
2 K o o QD m 2336 km
17) 3482 g to kg 18) 9.6 cm to mm 19)2.5m to cm 20)(-§>Okm fom g

NN 4
2 Y82 Ky Pl mm A5 cm G oco ™ >
21) 300 mm tom 22) 15 gtomg 23) 1.75LtomL 24) 5.6 mtocm =
CSeN (5 600 e, [, 790 mL D60 om .
L9
Part D: Which is bigger?
Compare the measurements using <, >, or =, *SHOW YOUR WORK**
PAGE2 OF3 444 WORDS [I%
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L 1. 2 B! 4 # 5 #i 7 B —
s -
21) 300 mm tom 22) 15 gtomg 23) 1.75LtomlL 24) 5.6 mtocm

Part D: Which is bigger?

Compare the measurements using <, >, or =, *SHOW YOUR WORK**

1. .63em_< ém 5 1900,mL___ — 1.5L
<63 m LS L
2.. 43mg <___5g 6. @ 698 Mg
042 g — 68 gy
3. 508 mg
. 0'5683
1Caemas> gom
AR,

10

LIRS IR N 83 &) & 2 & @ /2|, 7 B|e
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